(=1,
o

&S

o

7| 2 E2(M|06-49)

. o o
1A (27|17t 2024 06 252 06A| ~ 06E 262 06A|)
O O O O
[ 2024 062 252 06A| EHH ] o2z =2
- 95 52 PEUS WY HNE 9E -
> A7 7hE
O (25) AT(06A)) S4t5ee =2 7E0| 1 F20| 7kt2 £10 20, AIF2 10kmYL|CL 2552 = st 22
M SZ22 0|Fote 17|Ye| Fes 2l =2 70| RASLICL
O (L) Mol IXIet 27|ef 7FSALZ|0f S0 M2 AL =2 80| 718 RASUICH
Ofl ek 2 X/x| 7|2 () Ol e FZ M2 =(C) Ol e Z==2mm)
(R=) /28, (UHg) 17/27 (=) 27, (L) 27
> 2 7| H0E
O u;u:n
AlZtE ZHiE o =2
ECT TN askTojet | _m LFEHSYE GooD | MEDIUM [ POOR
B 06 o7 08 09 10 11 12 13 14 15 16 17
i
EZE/HE } ) }
1839 N W ~ N N N N N
s =E2 =72 =52 =Z2 =22 == =32 =% =z ==6 16 26
Hch=thE R B H,HE6 56 R H, W26 H hE6 S 6 R KBS R ES ST L
e Z3340 23340 E85:340 Z8340 E8340 E35340 E85340 Z8340 25340 E35260 85260 Z8260
JGUST =26 2&6 2£6 Z£6 246 B&6 246 Z£6 2456 246 246 246
(kt)
259 269
18 19 20 21 22 23 00 oL 02 03 04 05
ZE/HE
we D D> 2> 1D D 1 R A
(la-iﬂn =26 Z6 Z6 ==z ¢ =z == == == == =3 == =z
HchzehE o HE = U H HE] NS o HE ] = W=7 o WE T = BE T o HE T = HE 7 N ER = BE T
BB 23260 2260 231260 =260 ET.260 E:350 E:350 E@:350 2350 E:350 23350 23350
JGUST 246 246 246 =46 56 2£7 247 247 25T &7 247 247
(kt)
X E5Z/EHE2 SEE F 20| Cieh HiEHS 205, tHel= k) (O '53: 4= £30| 4kt S 2|0))
L
Ho
HATD
O &aAr
X374 S RO Ciet XM Al 28 7| &8 8 0| X|(@amokmagoknOfA] =tQleh = U L|C.
X Z=A7|2Ho| CHOEX], MBS Ol FAXHS 7 HZAE| QS = SAHESH| ALY (TEL 052-289-0365 / FAX 052-288-2392) 2
LEFA|7| BRELICE




